= 0 & 5 & &2
(691 & E)
Xl = 9
Off &FOH Al 4 = Off &K
0] SNIAHE Al 0
0 = 0
0 [ XA A 0
0 &3 0
0 JIEFE RERFAE 0
0] RETMFS H 9,564,900
0 0
Al 0 0
ol 0 37,000
RS 0 == 8,596,000
3l 0 DA EX] 931,900
ol 0 XZ2ErR 0
%9 0 +JFPmE 0
3l 0 S & Al 0
0] PELIEHHIRS AtAr 2| 0
=249 0 AATHAIE S 0
ol 0 ATEFO 0
=2 0 553 0
Hl 0 JIEHHIS STHAF 0
0] HIDISEBIXAHS Al 0
2| 16,523,000 A SO AF 0
=229 0 RS=THars B 0
EEES=EN 16,223,000 COIXt S S AL 0
=249 300, 000 SELTHAE 0
S=aY IR B 0
Breta el 0 R 0
RS 0 e R 0
SENS H 1,417,517 R 0
2 1,392,517 JIEHHIS SE A S 0
25,000 JIEH=ERTZ H 0
CESPS 0 EES=TIE 0
0 S3= 0
EENE 0
ol il bl H 119,000
ol Bl bl 119,000
5t 17,940,517 E 9,683,900




